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Now we will look at some transformations to these functions. We will save horizontal thanslations
for a later lesson. The equations we will work with today will look like either y = asin(bx) + % or
y = qcos(bx) + K. But what impact does each piece have on the graphs of sine or cosine?
. 1&’ is the Q_-W_l#!l{’ MC and represents the stretch factor, The amplitude is half the
vertical distance between the maximum height ( (Y2 <T ) and the lowest height
[ e, - &Gn\
( Ly ). ifa <0, the function is reflected vertically.
Sh/?\’— e K is the vertical shift. If kis positive, the graph is translated k units U? . If k is negative, the
graph is translated k units_C\0\W/\. (M\ DLINE
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to complete one cycle.}.” It takes agfg( )" degreesfor y =sinx or y =cosx to complete one
360° 360°
cycle. Therefore period = orb= .
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